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®5-1 BRITOVIALHHLU-EXRREZEMOEEN O LEBHE (FHR)

(BAL: Fho/4E)
o |mam | omE | omm | mm s | B0 wer | A<y |
BHBERLES 2207 11 155 30 3 8 161 20 119 5
FFESENIEE 625 16 176 63 28 37 68 4 18 0
N 175 2 47 15 2 2 22 2 4 0
HER 13 0 1 1 0 0 5 0 2 0
BEE 158 5 66 7 9 20 13 2 3 0
th TER 120 2 39 15 1 1 9 1 2 0
i RIRAD 19 4 3 2 1 0 2 0 3 0
an #HENE 29 0 5 1 10 3 3 0 0 0
| |BIEI Oy N 513 13 160 41 23 26 54 4 14 0
B| [EEoov75s 112 2 16 22 5 11 13 0 4
# JeiEE Rt 85 2 8 8 4 10 12 0 4
EEY
ok 22 0 6 13 1 1 1 0 0
TEE 1 0 0 0 0 0 0
FE 2 0 0 0 0 1
rHE
JUN - A 3 2 1 0
s [ mam | se | ome | mm |won | B0 e | R | macr
HHHBENLES 50 6 23 0
HARE 3
;g HEE i
n BEER
= FER 15 0 14
] REE 0 0
3] HE)IE 0 0 0 0
% | (AEInvyRE 19 0 14 0
| [ERITOvIRE 31 6 10
o= deimE-Eit 12 5 2
ﬁ EE
43 i ER 4 1 3
5 plig 3 0
HE
P E
Ju - R 14 4
o | mam | omE | omm | mmo s | B0 wer | A<y |mcr
BHEAERLES 51 7 0 19 0
FERENEE 74 9 27 17 0
N 8 5
HER 3 2
BEE
= TER 17 0 15 0
#® EE) 0 0
an HEE 0 0 0 0
7| [BAERIEvIRNE 29 0 15 7 0
B | [ERJavFar 45 9 11 9
#) deiEE-Eit 24 7 3 9
EEY
aak:il 5 1 4
plig3 0
HE
rHE
JUN - i 15 5 0




®5-1 BRITOVIALHHLU-EXRREZEMOEEN O LEBHE (FHR)

- (BAL: Fho/4E)

A2V N —

TR | T | 2T L el FESA BED | zaca | 2ot
BHEAERLES 15 0 57 78 59 1,458 11 15
FFESENIEE 15 0 20 35 43 68 28 6

mARE 9 0 8 16 4 41 2 0
HER 2 0 1 0 0
BER 2 0 2 9 6 12 4 0

th FER 2 0 4 5 27 10 2

5] EE) 1 1 1 0 1

an HENE 0 0 0 4 1 1 0

| |BIEI Oy N 14 0 16 31 41 66 6 3

B| [EmJov5ser T Z 7 3 2 22 3

#) deiEE Rt 1 4 4 2 1 21 3

EEY

ok 0 0 0 0 0 0

bl 0 0 0

[ 0 0 0 0

rHE

JU - pEE 0 0 0

hIR.3Y s =
TR | ST | 2T R FESA ZED iznca| 2ot

HHHBENLES 0 2 6 10 3 0 0

HARE 3 0

';'5 HEER 0 0 1 0

| | EER

] FTER 0 1 0 0

] R 0 0

] HENE 0 0

% | (AEInvyRE 0 3 1 0 0

| [ERITOvIRE 0 1 2 9 3 0 0

= dbiEE - Rt 0 1 1 1 2 0

2|

N ek 0 0 0 0

2 plig- 3 0 0

HE

]|

JUIN - 4R 1 8

NIR,3Y e - -
TR | o | 2T 20| s | FESA BED | zca | 2ot

BRAERLES 0 20 4
FHEARENEE 0 2 6 11 3 0 0

N 3 0

HER 0 0 1 0

BER

= TER 0 1 0 0

#® BRIEED 0 0

an HENE 0 0

7| [BEERIEvINE 0 4 1 0 0

B | [EmJavssar 0 T 2 9 3 0 0

# deiEE-Eit 0 1 1 1 3 0

EEY

ok 0 0 0 0
plig 0 0

HE

rHE

JUN - i 2 8




®5-2 BARTOVIALHHLU-EXRREZEMOEENOLEBHE HHKR)

(BAL: Fho/4E)
o |mam | omE | omm | mm s | B0 wer | A<y |
BHBERLES 2,394 11 77 19 21 23 107 13 121 1
FERENEE 451 10 100 22 26 9 72 4 22 0
KR 94 1 15 5 4 1 9 0 4 0
HAE
HER 41 0 2 5 1 0 6 0 9 0
BER 157 1 53 2 5 3 24 3 6 0
th TR 46 21 6 1 0 2 0 0 0
5] EE) 10 4 2 0 0 0 0 0 0
an HENE 17 0 2 0 8 1 1 0 0
| |BIEI Oy N 365 7 95 19 20 6 42 4 18 0
B| [EmJov5ser 86 3 5 3 5 3 30 0 4
#) dbiEE-E 75 1 3 2 5 2 27 0 4
EEY
ok 7 2 1 0 0 1 1 0 0
bl 1 0 0 0 0 0
[ 3 0 1 0 2
rHE
Ju - R 0 0 0 0
s [ mam | se | mw | mm w0 e | R | macr
HHHBENLES 17 8 2 0 0
R 1
HARR
| EER 2 0
E BEE 0 0
5 FER 0 0
] REE 0 0
] HENE 0 0 0
% | (AEInvyRE 3 0 0
Q| [FRZov5E 14 8 2 0 0
= JeimE - R 11 6 1 0 0
2|
N ek 3 1 1
g plix
HE 0
] E3|
Ju - R
s | mam | omE | ome | mmo s | B0 wer | ker e
BHEAERLES 75 64
FHEARENEE 71 8 3 0 38 0
RBE 29 26
N
HER 4 0 0
BER 0 0
= TER 0 0 0
#® BRIEED 1 0 0
an HENE 0 0 0
7| [BEERIEvINE 34 0 0 27
B | [EmJavssar 37 g 2 0 11 0
# R it 28 6 1 0 9 0
EEY
ok 5 1 2 2
T
HE 3
rHE
Ju - R 0 0




®5-2 BARTOVIALHHLU-EXRREZEMOEENOLEBHE HHKR)

- (BAL: Fho/4E)

A2V e o —

A EIRCIETI E;J%—gz@ sl [ ponam|F A ﬁg’ FUCA| zot
BHEAERLES 24 0 69 99 199 1,606 2 0
FERENEE 8 0 14 9 68 50 0 31 5

KR 0 0 0 30 22 3

HAE

HER 1 0 7 3 7 0 0
BER 6 0 2 3 26 19 0 3 0

th FER 0 1 1 12 0 0

i RIRAD 0 0 0 0 0 1 1

an HENE 0 2 0 0 2 1 0

| |BIEI Oy N 8 0 12 8 67 50 0 8 1

B| [EmJov5ser T 2 T T 0 23 4

#) deiEE Rt 1 2 1 1 0 23 3

EEY

ok 0 0 0 0 0 0

bl 0 0 0

[ 0 0

rHE

JU - pEE 0

n3A.31Y —— s —
TR | T | 2T R FES BED iz | 2ot

HHHBENLES 1 1 3 1 1 1

R 0 0

HARE

';'5 HEER 0 0 2 0 0

| | EER

5 FERE

] REE 0 0 0

] HE)E 0 0 0

% | (AEInvyRE 0 0 2 0 0 0

Q| [FRZov5E 0 0 1 1 1 1

= dbiEE - Rt 0 0 1 1 1 1

2|

N ek 0 0 0 0 0

g plix

HE 0

]|

Ju - R

IRy e = -
A EIRCIETISS %J%—gr(@ sl |mhemFESA *ﬁﬁ? FUCA| zot

BEHAE RIS 0 0 4 6
FHEARENEE 3 5 3 10 1 1

RBE 1 2

N

HER 0 2 2 0 0

BEE

B2 FER

#® BRIEED 0 0 0

an HENE 0 0 0

7| [BEERIEvINE 2 4 2 0 0 0

B | [EmJavssar 1 2 T 9 T [

#) deiEE-Eit 1 2 1 6 1 1

EEY

ok 0 0 0 0 0
T

FE 3

rHE

Ju - R




®5-3 BRI OVIALHHL-EXREEMOEBEINOLEBHE (HER)

(BAL: Fho/4E)
o |mam | omE | omm | mm s | B0 wer | A<y |
BHEAERLES 1,483 0 41 26 1 1 50 3 171 0
FFESENIEE 514 12 128 31 21 11 83 5 19 0
KR 22 2 5 2 1 1 3 0 0
mARE 139 4 6 11 10 3 18 2 7 0
HEE
BER 197 2 82 3 1 1 25 1 8 0
th FER 26 3 7 0 1 7 2 1 0
5] EE 9 2 3 0 1 0 0 0 1
an HENE 14 0 3 1 3 1 1 0 0 0
| |BIEI Oy N 406 10 103 24 16 8 54 5 16 0
B| [EEoovzss 108 2 26 7 4 3 29 0 4 0
#) deiEE Rt 76 0 13 3 3 2 27 0 4
EEY
ok 27 2 11 2 1 1 2 0 0 0
bl 0 0 0 0 0 0 0
[ 2 0 0 0
U E 0 0 0
JUN - A 2 0 1 1 0 0 0
s [ mam | se | mw | mm w0 e | R | macr
HHHBENLES 14 3 10 0
HARE
;g HEE
in BEER 0 0
5 FER
] R 0
] HENE 0 0
% | (AEInvyRE 0 0
| [ERITOvIRE 13 3 10 0
= dbiEE - Rt 6 2 3 0
2|
N ek 7 1 6
2 PG5 0 0
i E 0 0
]|
Ju - R
s |mam | omE | omw | mmo s | B0 wer | Ay e
BRAERLES 111 4 14 0 1 0
FHEARENEE 21 3 10 6 0
N 1 1
HEE
BER 0 0
! TER 0 0
#® RIRAD 4 3
an HEE 0 0
7| [BEERIEvINE 4 0 4
B | [EmJavssar 76 3 70 2 0
#) deiEE-Eit 8 2 3 2 0
EEY
ok 8 1 7 0
T 0 0
HE 0 0
rHE
Ju - R 0 0




®5-3 BRI OVIALHHL-EXREEMOEBEINOLEBHE (HER)

(Bf: Fho/4F)

a4
S
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ERE<T
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®5-4 BARITOVIALHHL-EXRREZEMOEBENOLEBHE(BHER)

(Bf: Fho/4F)

BRI

Hi Mz% | Bk 5 i REE | BETIAY Fyh3E H<T | KT | i<
BHEAERLES 3,983 14 535 23 19 18 181 32 213 4
FFESENIEE 1,255 20 210 64 25 47 165 13 108 1
KR 86 4 8 9 2 8 12 0 4 0
mARE 296 8 45 13 4 14 23 2 5 0
HER 185 2 9 7 3 0 24 0 51 0
BEE
th FTER 254 0 108 15 1 1 18 3 19 1
5 EE 176 5 16 4 3 8 14 1 8 0
an HENE 70 1 10 2 8 4 8 1 8 0
| |BIEI Oy N 1,067 19 197 50 21 35 99 7 95 1
B| [EEoovzss 188 1 13 14 5 12 66 6 13 0
#) deiEE Rt 99 0 7 8 3 3 26 4 12 0
EEY
ok 52 1 6 1 2 1 23 0 1 0
bl 11 0 0 0 0 0 7 0 0
i [F 11 0 1 0 0 8 2
E 0 0
JUN - A 16 0 3 0 8 1 0 0
s [ mam | se | mw | mm w0 e | R | macr
HHHBENLES 124 12 68 0 0
R 3
HARE 14
FE'] HEER 19 0 0
i BEE
5 FER 2 0
] REE 3 3
] HENE 1 0 1
% | (AEInvyRE 41 0 4 0 0
2 EESEPEL S 83 12 64 0
= dbiEE - Rt 25 5 15 0
2|
N ek 27 6 20
2 PG5 1 0
i E 17 1 16
] E3|
JUIN - 4R 13 13
s |mam | omE | ome | mmo s | B0 e | A<y e
BHEAERLES 1 0 0
FHEARENEE 393 12 95 223 0 0
RBE 70 66
N 83 63
HER 49 23 0 0
BEE
! TER 8 0 5
#® EE) 5 4 0
an HENE 1 0 1 0
7| [BEERIEvINE 216 0 5 158 0 0
B | [EmJavssar 176 12 89 65 0
# R it o1 5 21 28 0
EEY
ok 39 6 28 4
plig- 2 0 0
FE 27 1 22 4
rHE
JUN - i 48 18 30




®5-4 BARITOVIALHHL-EXRREZEMOEBENOLEBHE(BHER)

- (BAL: Fho/4E)
A2V s =
A EIRCIETI 70t | i (snes FES FED ziea| 2ot
BHBERLES 28 1 116 185 150 2,440 1 12 10
FERENEE 28 1 104 97 87 244 0 32 8
KR 5 0 2 12 22 0
mARE 6 0 13 51 13 96 3 0
HER 4 0 15 24 45 0 0
BEE
th FER 5 10 6 59 6 1 1
i RIRAD 1 43 8 0 64 0 1
an HENE 1 0 18 2 2 5 0 1 1
| |BIEI Oy N 21 0 98 91 86 238 0 5 3
B| [EmJov5ser g 0 6 5 T 6 27 5
#) dbiEE-E 4 3 0 0 26 2
EEY
ok 4 2 3 1 4 0 2
bl 0 0 0 0 1 0 0
[ 0 0 0
U E 0 0
JUN - A 0 1 1 0 0
hIR.3av —r s e
TR | ST | 2T R FESA ZED iznca| 2ot
HHHBENLES 0 4 19 6 14 0 0
R 3 0
HARE 0 8 5
FE'] HEER 0 1 6 6 6
B FEE 0 1 0 0
] R 0 0 0
] HE)E 0 0 0
% | (AEInvyRE 0 4 15 6 12 0
Q| [FRZov5E 1 4 0 2 0 0
= dbiEE - Rt 1 4 0 1 0 0
2|
N ek 0 0 0
B S 0 1 0
HE 0
] E3|
Ju - R 0
nIA.3aV s =
A EIRCIETI 70t | L (snes FES FED 3| 2ot
BHEAERLES 0 0 0
FHEARENEE 0 6 28 6 21 0 0
RBE 4 0
N 0 12 8
HER 0 1 9 6 10
BEE
= TER 0 1 0 0
#® BRIEED 0 0 0
an HENE 0 0 0
7| [BEERIEvINE 0 6 23 6 18 0
B | [EmJavssar T 5 0 3 0 0
#) deiEE-Eit 1 5 0 2 0 0
EEY
ok 0 0 0
Pl 3 0 1 0
FE 0
rHE
Ju - R 0




®5-5 BRI OVIALHHLU-EXREZEMOEENOLEBHE (TER)

(Bf: Fho/4F)

o |mam | omE | omm | mm s | B0 wer | A<y |
BHEAERLES 4384 30 431 43 14 30 289 38 150 5
FFESENIEE 748 45 218 31 29 29 75 9 50 2
KR 85 2 26 6 1 3 6 1 4 0
mARE 122 10 27 5 0 3 16 0 0 0
HER 10 0 6 1 0 2 0 1
BER 220 29 84 2 15 5 12 2 12 0
th FEE
i RIRAD 121 3 34 2 1 1 9 2 11 1
o #HE)E 73 1 27 1 6 9 10 0 6 0
| |BIEI Oy N 632 44 204 18 24 20 55 5 33 2
B | [ERJavFar 116 [ 15 13 5 g 20 7 T7 0
#) deiEE Rt 70 1 2 7 3 3 13 4 16 0
EEY
ok 17 0 5 3 1 2 1 0 1
bl 4 0 0 0 1 0 0 0 0
[ 6 0 1 0 5 0
HE 4 2 0
T - i 15 0 5 2 0 3 1 0 0
s [ mam | se | mw | mm w0 e | R | macr
HHHBENLES 11 4 0 0
R 0
HARE 2
;g BER 0
| | EER
5 FERE
] REE 0 0
] HENE 0 0 0 0
% | (AEInvyRE 3 0 0 0
2 EESIEPEZI S 8 4
X dbimE -t 0 0
2|
425 i ER 1
2 PG5 0
HE 1 1
]|
Ju - R 6 2
s |mam | omE | ome | mmo s | B0 e | A<y e
BHEAERLES 440 28 182 95 1 0
FHEARENEE 57 1 11 30 0 0
RBE 4 3
N 20 14
HER 2 1
BEE
B2 FER
® RIRAD 0 0
an HENE 1 0 0 0 0 0
7| [BEERIEvINE 28 0 0 19 0 0
B| [EmJovsser 29 [ 11 11
#9 tEE Rt 7 1 i 5
EEY
ok 2 0 0
plig 1
FE 6 4 2
rHE
JUN - i 13 6 4




®5-5 BRI OVIALHHLU-EXREZEMOEENOLEBHE (TER)

- (BAL: Fho/4E)
A2V —r s e
A EIRCIETI %J%—EQ@ v |pnemZ o) EED g | 2ot
BHBERLES 37 2 113 193 Al 2,828 1 2 6
FERENEE 9 0 30 54 20 104 39 5
KR 6 0 3 3 6 18 1
mARE 2 5 35 3 17 0
HER 0 0 0 0
BER 0 0 7 6 8 25 13 0
th FEE
5] EE) 0 0 11 8 1 36 1 1
an HENE 0 0 2 1 0 6 1 1
| |BIEI Oy N 9 0 28 52 18 101 17 2
B| [EmJov5ser 0 0 2 2 2 3 22 3
#) dbiEE-E 0 1 2 2 14 2
EEY
ok 1 0 2 1 1
bl 0 0 0 0 2 0
[ 0 0 0 0
rHE 1
JU - pEE 4
hIA. Y s =
TR | T | 2T R RESA| ZED |z | 2ot
HHHBENLES 2 1 0 1 3 0
R 0 0
HARE 1 1 0
?:1 BES 0 0 0
i BEE
5 FER
] REE 0 0 0
] HENE 0 0 0 0
% | (AEInvyRE 1 1 0 0
Q| [FRZov5E 0 0 0 1 3 0
= dbiEE - Rt 0 0 0 0
NREEE
A
N ek 0 0 0
=2 PR 0
i E 0 0
] E3|
Ju - R 3
W3RV U
A EIRCIETI ég”géi@ v |pnemZ o) EED g | 2ot
BHEAERLES 0 8 62 2 26 36
FHEARENEE 0 4 5 0 3 3 0
RBE 1 0
N 2 3 0
HER 0 0 1
BEE
B2 FER
#® BRIEED 0 0 0
an HEE 0 0 0 0 0
7| [BEERIEvINE 0 4 4 1 0
B | [EmJavssar 0 T 0 2 3 0
# deiEE-Eit 0 0 0 0
EEY
ok 0 1 0
plig 1
FE 0 0
rHE
Ju - R 3




®5-6 BIRT OV A LHHU-ERREEMOEER OLHEBHE RRH)

(B Fho/5)
o |mam | omE | omm | mm s | B0 wer | A<y |
BHEAERLES 7,873 4 332 18 871 297 345 19 143 2
FFESENIEE 7,071 31 2,403 47 45 29 307 67 326 8
KR 83 0 6 4 1 1 15 1 9 2
mARE 314 1 9 3 0 3 20 1 6 0
HER 58 6 1 0 5 0 28 0
BER 2,587 10 464 7 9 5 83 19 131 3
th FER 2,227 7 1,207 10 5 1 71 20 48 2
i RIRAD
o #HE)E 1516 12 677 15 19 10 47 21 74 0
2| |BEIAvIRE 6,783 31 2,370 40 35 20 242 62 296 7
B| [EEoovzss 288 0 33 6 10 8 66 5 30 1
#) deiEE Rt 112 0 4 1 1 52 3 22 0
EEY
ok 100 0 3 1 2 1 9 1 7 0
bl 25 2 2 6 0 2 0 0 0
[ 20 17 0 1 1 0 0
HE 0 0 0 0
JUN - A 31 7 1 0 7 2 0 0 0
s [ mam | se | mw | mm w0 e | R | macr
HHHBENLES 110 6 67 0 0
R 2
HARE 20
;g HEE 3
in BEE 0 0
B FEE 21 20
B RIRHD
] HE)E 3 0 0 0 0
% | (AEInvyRE 50 0 21 0 0
| [ERITOvIRE 60 6 46
B JeimE - R 6 0 1
2|
N aak:il 6 3 1
g plig- 3 1 0
i E 47 3 44
] E3|
Ju - R 0
s |mam | omE | ome | mmo s | B0 e | A<y e
BRAERLES 11 6 0
FHEARENEE 203 6 67 91 0 0 0
RBE 12 10
N 57 36
HER 6 2
BER 0 0
= TER 25 20 4
#® RIRAD
an HEE 3 0 0 0 0 0 0
7| [BEERIEvINE 103 0 21 52 0 0 0
B | [EmJavssar 700 6 16 40
# R it 17 0 i K
EEY
ok 10 3 1 3
plig 1 0
FE 49 3 44 2
FaE 8 8
JUN - i 15 15




®5-6 BIRT OV A LHHU-ERREEMOEER OLHEBHE RRH)

- (BAL: Fho/4E)

A2V e o —

A EIRCIETI 70t | i (snes FES FED ziea| 2ot
BHEAERLES 3 0 271 116 5,441 0 10
FFESENIEE 31 1 161 376 51 3,139 0 0 19 31

KR 6 0 3 9 1 23 2

mARE 4 10 105 3 147 1 0
HER 10 0 4 3 1 0
BER 3 0 62 127 29 1,623 0 4 6

th FER 3 13 71 14 746 2 4

i RIRAD

o #HE)E 4 1 54 50 3 519 0 2 7

| |BIEI Oy N 30 1 147 365 50 3,059 0 0 12 17

B| [EmJov5ser [ 0 14 11 2 30 7 14

#) deiEE Rt 0 2 4 0 4 7 7

EEY

ok 0 0 6 4 2 60 4

bl 0 0 1 0 8 0 2

[ 0 0 0 0 0

U E 0 0

JUN - A 0 4 2 0 8 0

n5A.32Y —— s e
TR | ST | 2T AR FESA BED izca| 2ot

HHHBENLES 3 18 1 14 1

R 2

HARE 2 11 7

I;'g BES 0 1 0 2

| | EER

5 FEER 0 1 0

B RIRHD

] HE)E 0 1 0 0 0

% | (AEInvyRE 2 14 0 13 0

Q| [FRZov5E 0 5 0 2 1

= dbiEE - Rt 0 3 0 1

2|

N ek 0 1 0 1

= plix 0 1

HE 0
]|
Ju - R 0 0 0
nIA.32Y s =
A EVRCIET Iy 70t | L (snes FES FED || 2ot
BHEAERLES 4 0 0
FHEARENEE 0 3 19 1 15 1
RBE 3
N 0 2 11 8
HER 0 1 0 3
BEE

B2 TER 0 1 0

#® RIRAD

an HEE 0 0 1 0 1 0

7| [BEERIEvINE 0 2 14 0 14 0

B| [EmJovsser 0 0 5 0 2 [

#9 TEE - wmit 0 4 0 i

EEY

ok 0 2 0 1
plig 0 1

FE 0

rHE

JUN - i 0 0 0 0




®5-7 BRITOVIALHHU-EXREEMOEENOLEBHE (HR/IR)

(B Fho/5E)
o |mam | omE | omm | mm s | B0 wer | A<y |
BHBERLES 6,902 22 1,265 yal 51 49 274 57 309 5
FERENEE 1476 95 267 58 29 29 120 12 67 2
KR 63 1 10 5 6 5 2 0 0 0
mARE 106 3 18 8 1 2 12 1 5 0
HER 36 27 0 4 0 3
BER 389 89 75 4 5 2 15 2 16 1
th FTER 212 72 15 11 2 14 4 7 0
5 EE 405 1 21 4 2 2 14 1 17 0
an HENE
2| |BEIAvIRE 1,212 94 223 36 25 13 61 8 49 2
B| [EEoovzss 264 1 44 22 4 16 59 3 18 0
# dbiEE-E 87 0 2 11 3 2 42 0 7 0
EEY
ok 121 1 24 8 1 3 7 1 8 0
Pl 3 10 0 4 1 0 0 2 0 0
[ 14 0 6 0 0 0 7 0 0
E 2 1 0 0 1
T - i 30 0 7 2 0 12 1 1 2 0
s [ mam | se | ome | mm |won | B0 e | R | macr
HHHBENLES 118 11 12 0 0
FIE 5 2 0
HARE 10
;g HEE i
in BEE 0 0 0
B FEE 19 0 0
B R 4 1 0
] HE)E
% | (AEInvyRE 39 3 2 0
| [ERITOvIRE 78 8 10 0 0
o= dbiEE - Rt 14 1 2 0 0
2|
N ek 32 4 3
g plig- 3 0
i E 6 3 1
] E3|
Ju - R 27 4
o | mam | omE | omm | mmo s | B0 wer | A<y |mcr
BRAERLES 1,507 14 1,464 3 0 0
FHEARENEE 262 15 28 98 0 0
RBE 9 3 1 2
N 56 40
HER 2 0
BER 0 0 0
B FTER 39 1 1 9
#® RIRAD 5 2 0 0
an HEE
2| |BEEIZovIRE 112 4 4 50 0
B | [EmJavssar 750 11 24 13 0 0
# LEE Rt 35 1 5 17 0 0
EEY
ok 68 6 7 24
plig- 1 1
FE 10 4 2 3
rHE
JUN - i 36 10 3




®5-7 BRITOVIALHHU-EXREEMOEENOLEBHE (HR/IR)

(Bf: Fho/4F)

hIA,3Y Y .
TR | T | 2T L el FESA BED | zaca | 2ot
BHEAERLES 29 2 324 194 44 4,148 37 21
FFESENIEE 19 0 49 82 16 512 93 26
KR 6 1 0 4 22 1
mARE 3 1 36 0 18 0
HER 2 0 0 0
BER 1 0 4 10 2 73 86 2
th FER 1 26 17 42 1 0
i EE 0 0 12 9 0 319 0 2
an HENE
| |BIEI Oy N 12 0 46 72 6 475 88 4
B| [EmJov5ser 7 0 3 70 70 36 5 22
#) deiEE Rt 0 0 0 1 3 14
EEY
ok 7 2 8 10 33 1 6
bl 0 0 0 1 0 2
[ 0 0 0 0 0 0 0
U E 0 0 0 0
FuIN - A8 1 1 1 1
nIA.3Y s =
TR | Jocy | @mer | 2ot | sran | shem|FESA BED | macs | 2ot
Hi3R<d
HHHBENLES 2 22 21 18 2 28
R 2
HARE 1 1 9
;g HEE i
| | EER
= FES 1 15 3
= E 0 0 3
] HE)E
% | (AEInvyRE 2 16 14 3
| [ERITOvIRE 1 7 21 4 2 25
= dbiEE - Rt 0 0 0 0 9
2|
“ &R 1 5 4 0 16
= plix 0 0
i E 1 1
M
Ju - R 2 21 0
ISV s s | =
A EVRCIE Iy 24 | s | one FES BED |izucs| 2ot
BHEAERLES 0 0 3 1 13 8 0
FHEARENEE 0 6 33 21 31 2 28
RBE 3
N 1 1 14
HER 2
BEE
B FTER 0 2 22 5
® BRIEED 0 0 3
an HEE
7| [BEERIEvINE 0 4 23 24 3
B | [EmJavssar 2 70 21 7 2 25
#) deiEE-Eit 1 1 0 0 9
EEY
ok 2 7 6 0 16
plig 0 0
thE 1 1
rHE
JUN - i 3 21 0







